‘Terrific Tornado Maths’

If tornado ‘runs’ 1 km per 20 minutes, how many km it will ‘run’
for 1 hour?

. 300 km

b. 3 km

. How many tornadoes will there be in the next 11 years in Brazil,

if in each year there are 10 tornadoes?

. 110

b. 160

122

Tornado’s height is 3 km, if you times it by 15, the answer will
be...

. 54 km

b. 45km

If you divide tornado’s height (which is 105) by 1000 what
would the answer be?
.105

b. 1.05
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. Tornado’s speed is 15mph, if you times it by 10 and then take

away 15, what would the answer be?
128

. 60

135

. 75
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